Math 9 F19 Quiz 6 Name: Il

(1) (5 pts) Let the z-axis point east, let the y-axis point north, and let z denotes
elevation. Let f(z,y) = z\/y and view the graph z = f(x,y) as a mountain.

Suppose that you are hiking due south on this mountain through the point
(2,1,2). Find the tangent line to your path at this point.
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(2) (5 pts) Let S be a surface R®. You know that the curves
ri(t) =<2+3t,1—t*3 -4t +* >
ro(u) =< 1+u? 2u* —1,2u+ 1>

both lie on S. Find a scalar equation of the tangent plane to the surface at
P(2,1,3).
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